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»gz!*gZzg¬x¥â]
Bussiness and General Awareness

¤/LãC{Ç{~zZµìX .1

�#-�ð GFóM�x (B) �**¥/|ó|Z] (A)

%Iuó= (D) ÃKó**ÇC (C)

qgzfs~Ð¾�Æaâ.ÞZÅx�c*Y@*ì? .2

P]c*¥ (B) �43�5é EGG]Zzg6 (A)

tX (D) Z�[óZðZzgçâ] (C)

Y~ZMZg~Mð¶''Æ**xÐYãYCì? 1933 Ó0*gK� .3

**i~0*gK (B) z0*gK (A)

e_��0*gK (D) Ã®Ó½ø0*gK (C)

»ÈìX (FFC) ZpZpÏ .4

�¢45é EGE÷»g7gc (B) Ãgy¢45é
E
G
E÷»g7gc (A)

Zy~ÐÃð7 (D) 8gcMsÅ!*wÃ± (C)

: 1679 {»g:Zl .5

¹�Hì�ËÃÌ%Ëĝc*zZg.$Æ{7HYYT~ZkÆÜsZ²ZxÒyH�Hå (A)

Ë{~Ã¢l)`äc*J-$~g;ðÆa�1]�ÛZëÅI (B)

!*��á{Æ¬Ððâã{ÆÜsúZxÅfZCMiZ�-V»DH (C)

tX (D)

Îg`ÅgzÝÅúöÐZK̈yÅ¡4¯ä~æ�QìYè: 6

ZÐZgi+gzÝ�~"5¿.ç EGHc*VÃhu��îì (A)

'×Z�¤�Ü~Z�� (B)

¢ÅgöÆ�]Ãu�YD�ZzgZq-¡q�aZ�@*ì (C)

!*Ññ¶ÃÑ¢Æ%ÃzN*ðe~~ps�C�X (D)
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Í³îh~zZI»m¾oÐì? .7

ë (B) Z%M (A)

',¤6 (D) yz*y (C)

Zq-',Mæà{ÃZk!*]ÅJ-$�,�Zk»�ây�gMæà{ÆjZð�ZâÅ̄g~Z�Z5�}Çó&¹Y@*ìX .8

Ñ$lç JE¢2.ç
E

G
J (B) Ï( / {Ms�i+f$)Zs (A)

tX (D) Z�ÛZoig (C)

Mv»qgqgzfs~Ð¾è<ØÅ��]Ç{ì? .9

·�e$ (B) @*�#Ö (A)

]43ð
IEG#Ö (D) ig

$h43ï

GIG
G
G

)0*gÏè<Ø( (C)

Zzizy6,]öz��CìX .10

ZÐZgi+@*�g~ (B) ÃMäzZàgzÝ (A)

!*Ññ¶@*�g~ (D) Z8}ZzgÇâÃÈ (C)

�c*ÅzzÐ�@*ìX .11

� (B) "5¿.ç
EGHc* (A)

zZ],k (D) 6,zIizzZ (C)

e~Mge~Zs»Èì .12

%ïzF,¹§8gR,~ (B) �Ã¦ïZzgF,ªC§8gR,~ (A)

Zy~ÐÃð7 (D) ¸jïZzg�*zm,~§8gR,~ (C)

YZ}KK)¸Ñ]Zzg�g]Ð0Àòç@{(X .13

~ÎZŅ̃Zòç@}6,�\�ñT»Ñ¢sg»zIVÅzzÐÎZŅ̃Zò�g]Å 1947 )ñê�´Æ�gxy (A)

j,Z�ÛZð�**åX
ç@{�ZgZWÆ�gxy�gCg¬ìVÆ�BÎ�}!*i~»ZOxZzgj,Z�ÛZð�ÆZLÑÃqÝ�**eLì (B)

�zâV (B) Zzg (A) (C)

Zy~ÐÃð7 (D)
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�«ÆaðÆyw�ÛZbÆa!2.çGEE~ZEw�äzÑAi@*g�JC�äÐàC¢zg~ìX .14

Zd'×ZØ (B) Á×Z»` (A)

ÁºmwZg] (D) �̀á (C)

Æ�g�ízZµìX (UNO) -Z+Zz .15

J)�gC( (B) Ec*gu)Z%M( (A)

ck)�ÛZ÷( (D) YZ)Î*.çGHEgC( (C)

ÅZq-ZO�~¤/z{È~ìX (G-15) 15-Y .16

�zu~¬@Z̧Zx (B) «¬@Z̧Zx (A)

a¶¬@Z̧Zx (D) �~¬@Z̧Zx (C)

¢4-�ð
E

G
G¢aÃeöÆaZEwHY@*ìX .17

!*gl (B) i²á (A)

MzZiÅ�] (D) qgÅ�Zð (C)

�Û�zÏ''''åX .18

ZLgiðLL�áx)óóÆa�gì (B) Zq-�á² (A)

Zy~ÐÃð7 (D) �zâV (B) Zzg (A) (C)

øD»Ã{eðZ�Zg{zZµìX .19

�CÙZ�zy (B) �Zg7Ò5ë EE
Y

(A)

�ö7g (D) âgâÍ (C)

MiZ�!*iZgì: .20

ÎZŅ̃Zòr~~Zq-Z+Ño�V̧~ZâYÅ�gMæ�Qe-Kc*�vL¬Z+7�C� (A)

!*iZg�VËqÅ7»çg�ZgÔÅ̧ÂVÆMiZ�Z:öÐ�@*ì (B)

z{ÈgÇ���g]Æp}6,Qe-KÅZ�Z5ÐI�óãC�~îg6,(s#Åj,Z�ÛZðÆa (C)

Zy~ÐÃð7 (D)
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Í',�»Zëb%ztì: .21
$4-£4

è
G
G

GE (B) Z

(£4
è

G

GE (A)

»g0eZðM�à (D) ;àgzX (C)

Z̧Zx�{Æ-',ZñM!*�~Åu¤/ñV)-Z+Zp8Z}(»Ñ: .22

M!*�~ÆZ°Z�zÑgZ��** (B) M!*�~ÅwH]»_· (A)

tX (D) M!*�~Å0*åVó{0+Zãµ/È~Zzǵ6,z¤/Zx»g�** (C)

ÃyÏv�Ã¦}.â]Zzg4¯Y¡VÆZEwÆaÁZzgZdðñZ&CMÑ]�g�ZkÃÁ�Cì? .23

Çe�&c*ge�)!e~Zs( (B) ¸g]Z¼Zã�)!Z~Zs( (A)

Zy~ÐÃð7 (D) ¸g]eZÑî�)!e~Zs( (C)

�g`fs~Ð�gu)�!Z¨ð´�ð¬zyÅZÎÏZc(ÆZg»y~ÐÃy�? .24

ÈN*yó@�÷óâ­d$ó{Cwó¸g]ó0*ÎyóZjjîyZzgu~]d (B) ÈN*yó@�÷ó¸g]Zzg0*Îy (A)

Zy~ÐÃð7 (D) Zjjîyó0*ÎyóåðCóZ&+zkó{CwZzgu~]d (C)

�&Ð(,~M!*�~zZàgc*�&ÃyÏì? .25

'gZ»Z (B) f!Xw (A)

ÍZ (D) PZÑ (C)

(Mathematical Ability) gc*MC&¢A

�YCìÂQ�Ñ:Z�±ÅÑbHì? 40,931 �w�t(,|� 2 ìZzg 27,500 Z¤/Ëgc*�&Åñ��{M!*�~ .26

22% (B) 25% (A)

17% (D) 10% (C)

gz9Åuât»g~ÅX�wÆZ!x6,ZrVä 5,400 Zzg 8,400, 4200 ä»gz!*gÑzq�D�ñ!*nKM C Zzg A,B .27

�+Bï EGZY~Îc*XZkÆ0*kXg¶g{�ì? 32 äZLo«Æ{» C gz9»o«¾c*X 24,000

4324 (B) 5432 (A)

4896 (D) 4899 (C)
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�YñÇó 10:9 �w�gZXZzggZ¿Å/zVÆ�gxyÚ�& 6 ÆÚ�&ÐìX 17: 15 gZXZzggZ¿Å/!*nKM .28

�w�gZXÅ/H�Ï? 6

34 (B) 40 (A)

36 (D) 30 (C)

gz9�z�w�ZÏÑb6,ZÏg¶ 6,800 gz9Åg¶6,qÝ�äzZÑ��{Î�)�Ñ:( 17,000 eg�wÆZ!x6, .29

6,¦�äzZÑ%�'Î�)�Ñ:%�'(H�Ç?
Z(gZ]Æîg6,�b�ZôgZ]Æ´z{ (B) ç7HYY (A)

gz9 3,260 (D) gz9 3,570 (C)

%�Zq-±ÆZzgZq-%�Æ�Bï�°�&kHic*�{»x�Mh�ÂZq-±ÆZzg%� 2 ±ÆZzg 7 Z¤/Zq-�B»x�äzZá .30

Æfg=�b�z�ÜÆaK�»x»Ú́�&H�Ç?
1:4 (B) 3: 1 (A)

1:3 (D) 1:2 (C)

�y%aHXÀg¶Hå? 28 gz9y%aKZzgZkÆ0*k×g¶»� 38,460 ÍgzäZLyÅH,MzMgZö6, .31

92,600 (B) 76,500 (A)

ç7HYY   (D) 87,400 (C)

In the following figure a parallegram ABCD is shown. AB=24cm and AO = BO = 13 CM. Find BC. .32

10 cm (B) 8cm 12cm (A)

(D) 9 cm (C)

~À 2010 �eVÃÜzÜÆZL§jÆîg6,ZEw�@*åXZ¤/ 8% Zzgà~M!*�~» 15% ~�¸M!*�~» 2010 .33

tìÂ�¸M!*�~ÑÅV~Hì?)�Ûn�,�Zq-6Zq-�¿ZEw�@*ì(X 1.1 M!*�~
 0.6 million (B) 600 million (A)

 400 million (D) 500 million (C)
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T¢aMìX 21 auÅ§s (2) T¢aìX 84 Zq-au»´�Hì?Ò**]~au»Zq© .34

�zâVÒ**]~eðï�ÎZw»�Z[�¶Æa¢zg~ì L Z¤/~Zzg (A)

Z¤/Òy~ñ��Z°Z�zÑg�ÎZw»�Z[�¶Æa»°ìXZ#�Òy~ñ��Z°Z�zÑgÜsÎZw»�Z[�¶Æa (B)

»°7ì
~�ñ��Z°Z�zÑgÎZw»�Z[�¶Æa»°�óZ#�Òy~ñ��Z°Z�zÑgÜsÎZw»�Z[�¶ L Z¤/ÜsÒy (C)

Æa»°7�X
Z¤/Òy~Üsc*Òy~ñ��Z°Z�zÑgÜsÎZw»�Z[�¶Æa»°�X (D)

(38-35 @Zc*])ÎZw�
ZkÆ�MäzZáÎZÑ]»�Z[�¶Æa¥â]»Ng_·�,X

A �X�zâV|VegzVZ¡¬]ªÛR,ó¯yóàegZÇZzg²)45½ï FGHe�)Ïe~(»g�C�Xv B Zzg A �z|V
Å»g��{À B ìXv 4:5 Å»g��{À¡¬]Æ�gxyÚ́�& B Zzgv A ¡¬]»g�CìXv 800À

Å»g��{!*¹¡¬]»�z0*vZVz̄4,�X B �Ïe~�Xv 40 �àegZÇ�ZzgZy~Ð 20 ¡¬]~Ð
àegZÇZzg A �Ïe~ìXv 20 Å»g��{À¡¬]» A ìXv 340 �zâVµVÆfg=ï�»g��{ÛR,iÅÀ®Z�

¯4,Å)z~®Z�»g�CìX

Æ»g��{ÛR,Å®Z�Æ�gxýÚ�&Hì? B Å»g��{àegZÇÅ®Z�Zzgv Av .35

 9:7 (B) 8:9 (A)

Zy~ÐÃð7 (D) 7:9 (C)

�zâVµVÅ§sÐZq-�B»g��{̄4,ÅÀ®Z�Hì? .36

390 (B) 430 (A)

530 (D) 420 (C)

Å»g��{¡¬]ÅÀ®Z�»H�ì? B Æ»g��{̄4,Å®Z�v Av .37

29% (B) 25% (A)

27% (D) 33% (C)
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Æfg=»g��{àegZÇóÏe~ZzgÛR,iÅ®Z�»Zz�Hì? Bv .38

280 (B) 840 (A)

 860 (D) 270 (C)

z,{~ 4/5 z,{~Zzg�zuZZkÅÑ�'Æ 5/4 Zq-ÃZkÅÑ�'Æ 900 Zq-¿À7~�z�(Vy%h+@*ìX .39

gz9»o«¾@*ìXÁ7zZà�ÏÅ7ìX 90 �Ûz|#�Æz{7g}A�+6,
400 (B) 360 (A)

 300 (D) 420 (C)

�zu}dW�áxÑwZzg�&ÐgLdW6,*Ñw 5/12 gz9�bó7g}YGZ�» 25,000
²)45Õä HGwäZL(,}dWgZxÑwÃ .40

ÃZÚ��c*AZkä�z(,}dWgZxÑwZzg�zu}dWâxÑwÃZq-�B�c*X�&ÐgLdW6,*ÑwÃH5?
1,50,000 (B) 1,00,000 (A)

Zy~ÐÃð7 (D) 2,00,000 (C)

¢aZzg 1200 gz9°¢aìÂÃgx»gK 10 Zq-lÃgxÃZq-D§s!*hÎð�ÏóZq-¿ZzgZq-zF,XZ¤/!*hÎäÅÑ�' .41

Æ�BìÂ5i#ÖÅ7X�Ï? 30 �ág^�àÃgx
1200 (B) 720 (A)

1180 (D) 1400 (C)

�y��XZq-� 100 ±ÆÃ 1 �y~Zq-»xå�Mh�Zq-�»xå�ä~Z! 6 ±HVï� 15 ±ÆZzg 10 .42

±ÅÆaÄ�y�g»g�VÐ? 1 »xå�äÆaÜs
150 (B) 225 (A)

145 (D) 90 (C)

ìXZÝ�H¶? 3/5 �Z��HYñÂqÝ��{� 25% �Z��HYñZzgee!542.ç GEGH~ 20% Z¤/Ë�Æy�~ .43

4/7 (B) 5/7 (A)

Zy~ÐÃð7 (D) 3/8 (C)
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[RV~�Zð�iÐð��{ÃAÐ�zkHÃ,ð 9 ³¢a°�ÅZz�gëgÐZh@*ìXZq-V»ð 756 Zq-�Zð�i .44

[RV~HÃ,ð�}Ç?)t�Ûn�D�ñ�6,zZi,Ú�Zzg7Vgëg 18 �©8ìXV»ð 48 �ä~
ÐMÐ(,|g��(

4875 (B) 5013 (A)

Zy~ÐÃð7 (D) 4528 (C)

�qÝK� 70 ic*�{�qÝKXgz�ä 40 �ÁqÝKXgz>ØäÎ*Ð 25 Zq-ZJy~gðägz>ØÐ .45

�ic*�{X�ÂZkZJy 34 ÁìXZ¤/gz~ÃgzðÐ 50 ic*�{�Xgz~»Zjg±Æic*�{Ðic*�{�zVÐ 10 Î*
~gz~äÄ��qÝÙX

70% (B) 90% (A)

60% (D) 80% (C)

10% ó�V6, 25% óô̧6, 50 % ywZâY6,y%a�D�Zzg!*¹~Ðz{R,Z¡ĝ6, 50% �¤/�OZKâ;:Mæã» .46

gz9ÅY�CìX�¤/�OÅâ;:MæãHì? 900 Zzg!*¹g¶
12,000 (B) 6,000 (A)

Zy~ÐÃð7 (D) 9,000 (C)

� 8 �w~ 2 gz9ìXZk6,±6, 6500 �Ñ:ÅÑbÐºm6,±Åg¶6,qÝ�äzZÑ��{Î� 13% �w~ 8 .47

�Ñ:ÅÑb6,qÝ�äzZÑ%�'Î�H�Ç?
1020 (B) 1040 (A)

1200 (D) 1504 (C)

Åg¬e$6,�Ûz|#H�HåX 20% Z���ZXZÐ¶Kyi�76, 30% gz9~y%h+Z�HXZkÅ7~ 78350 Zq-*y .48

Ñ�'Å76,o«»�Hå?
7% (B) 4% (A)

 3% (D) 5% (C)

gz96,��{Zzg%�'Î�~H�Ûtì? 7300 �Ñ:ÅÑbÐ 6% �w~ 2 .49

26.28 (B) 29.37 (A)

23.22 (D) 31.41 (C)

�Hì? 41 ìX�&Ðic*�{®Z�» 2262 Ú&�zV»ù· .50

301.51 (B) 303.14 (A)

 308.14 (D) 309.55 (C)
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(Data Sufficiency and Mental Ability) ñe$Z°Z�zÑg
gZ`ó�yZzgZ®s¾ÚkÐZy~o«��,Ð? .51

�z¯c*ì 75 gZ`Ão«»�z0*vZVzMìX�*ZzgZ®säù¦uât»g~»
Z¤/Òy~eð~ÜsÎZw»�Z[�¶Æa»°ì (A)

Z¤/ÜsÒy�zx~ñ��Z°Z�zÑg�ÎZw»°�Z[�, (B)

Z¤/r¸çs~c*�zx~ñ��Z°Z�zÑgÎZw»�Z[�¶Æa»°ì (C)

Z¤/�zâVÒ**]~ÌeðZq-�BÎZw»�Z[�¶Æa»°7ì (D)

fs~�b�ZÖpÃ!*pF,KM~F,KM�,X .52

1. Presentation        2. Recommendation      3. Arrival         4. Discussion          5. Introduction

3,5,4,2,1 (B) 5,3,4,1,2 (A)

5,3,1,2,4 (D) 3,5,1,4,2 (C)

§m,~@{��l�,X .53

4, 18, ? , 100, 180, 294, 448

50 (B) 48 (A)

 60 (D) 58 (C)

A B C D E F G H I J K L M N O P Q S R T U V W X Y Z .54

Which letter in this alphabet is the eighth letter to the right of the letter and which is tenth

letter to the left of the last but one letter of the alphabet?

W (B) X  (A)

H (D) I (C)

�g`fsÎZw~�wzsÅ¢a¾�~�ìXt��Zg�zZgc*»ÝzZgZq-ºmgDyÅcz~�D�XZkgDy»ØÎN .55

ZzgZkÆ_.@{��Zg»ZN[�,X
12 24 6

96 16 12

108 ? 18

 16 (B) 12 (A)

20 (D) 18 (C)
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n�~�̂~ÃyÏ�gLLÅ(gì? .56

3 (B) 4 (A)

1 (D) 2 (C)

óÅ(©8ì? X �g`fsZ°Z�zÑg~Ãy��L .57

7 370 3

6 224 2

x 730 1

9 (B) 2 (A)

12 (D) 11 (C)

Å(BX "?" ZyZ�Zg»ØÎN� .58

CK 16 9 JR

OS 24 19 TX

KM ? ? PV

21,14 (B) 14,21 (A)

84,56 (D) 56,84 (C)

�g`fs~ÐÃy�z+eZc*¤/Zx¯ÎVÆ�gxy©]Ã9îg6,zZã�@*ìX9ó�á@ó��'îh~óC .59

2 (B) 1 (A)

4 (D) 3 (C)
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ZkeZc*¤/ZxÅÙ|#�,��b�4]Æ�gxy©]Å4+úÒÏ�@*ìó¸ðóØCÙó%� .60

2 (B) 1 (A)

  4   (D) 3 (C)

Sequences and Series

¢aic*�{ìX 4 ¢aìXMðahZðÐ 208 Zkö^»´�HìXö^»Zq© .61

Z¤/Òy~eð~ÜsÎZw»�Z[�¶Æa»°ì (A)

Z¤/ÜsÒy�zx~ñ��Z°Z�zÑg�ÎZw»»°�Z[�, (B)

Z¤/Üs~c*�z~ñ��Z°Z�zÑgÎZw»�Z[�¶Æa»°� (C)

Z¤/�zâVÒ**]~eðÅZq-�B¢zg]ì (D)

Zq-(,~vÆo}CÙ�ÆcÃZq-F»�zg{�D�ÎZñCÙ¹Æ�}�ÆcÃXZrVäYy%h+Zg~»�zg{�'H .62

ZrVä¬ñµ6,Yy%h+Zg~»�zg{�äÆ�mÆ�zu}�~Z»zÛe0*g¹»�zg{H
ZrVäYZ:gi»�zg{�äǢgZ�Yy%h+Zg~»�zg{HåpZ»zÛe0*g¹»�zg{�äÐ¬

Z¤/Òy~ñ��Z°Z�zÑg~�ÎZw»�Z[�¶Æa»°�V (A)

Z¤/ÜsÒy�zx~ñ��Z°Z�zÑg�ÎZw»»°�Z[�, (B)

Z¤/Üs~c*�zx~ñ��Z°Z�zÑgÎZw»�Z[�¶Æa»°� (C)

Z¤/�zâVÒ**]~ÌeðZq-�BÎZw»�Z[�¶Æa»°7ì (D)

�g`fs].zw»Ng_·�,ZzgZkÅãC�6,ÎZÑ]Æ�Z!*]�,X .63

J-0*õ�ÃgiÅ»gzVÅyw�Ûz|#ÃªCÙ�@*ì)ÓxZ°Z�zÑgDÙZgzV~�( 2010Ð2005 qgzfs].zw
Manufacturer 2005 2006 2007 2008 2009 2010

L 440 480 470 500 520 510
M 400 410 415 415 420 430
N 380 390 390 400 420 495
O 360 380 400 415 440 500
P 480 440 440 420 425 435
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qgzfs~¾ZâZ`ÆjZáÐóH�~�æ]Æ�zgZy»gzVÅ�Ûz|#�&Ðic*�{ì?
L, 2010 (B) L, 2009 (A)

 0, 2008 (D) L, 2008 (C)

ÐHmì?  A » D ÅâVìXC� D   E ÆzZ­�X   C   D ÅâVìX B   C ÅÇìZzg B   A .64

�Z�~ (B) �Z�Z (A)

7C (D) e (C)

z,gi6,ìX¯k~ÄCY�? 38 z,gi6,ìZzgZq-¯k~nÐ 9 �Z��Zz6,Ð .65

47 (B) 45 (A)

48 (D) 46 (C)

¢a¸ìXQz{!*N 35 ¢a¸ìXQz{�ZN§s&×@*ìZzg 30 ¢aÑwÅ§s`XQz{�ZN§s&×�HZzg 20 gZt .66

¢a¸ìXz{Z�Zð7icÐ¾�ZzgÄ¢aÅ�zg~6,ì? 15 ¢a¸ìXMy%~z{!*N&×@*ìZzg 10 §s&×@*ìZzg
30 m East (B) 15 m West (A)

45 m East (D) 30 m West (C)

¤/z\É�,��zuzVÐZ�? / ��hZ .67

12:37 (B) 7:22 (A)

15:46 (D) 8:33 (C)

qgzfsÎZw~z{É�,�!*¹&�Z!*]ÐZ�X .68

RTP (B) DEB (A)

NOL (D) HIF (C)

�g`fswzsÅF,KM~MÐHM**ecÔ .69

A A B A B C A B C D A B C D E A B C D

E (B) A (A)

B (D) C (C)
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S L U A Y J V E I O N Q G Z B D R H .70

What will come in place of question (?) mark in the following series:

LA  UJ  YI EG ?

IB (B) ZH (A)

QH (D) NR (C)

»��: DolefulÂ .71

Dismal (B) Lamentable (A)

Glad (D) Pitiful (C)

In these series, you will be looking at both the letter pattern and the number pattern, .72

Fill the blank in the middle of the series or end of the series.

SCD, TEF, UGH, ______WKL

VIJ (B) UJI (A)

DOP (D) XLM (C)

wzsÅF,KMpsK%ZzgCÙwsÃÜsZq-!*gZEwK%LL''óóÃÄMiZ�ZÖp~�HYYì? .73

4 (B) 5 (A)

 3 (D) 2 (C)

�g`fsZÖpÃF,KM�,Z¤/Zy�&Ã¹Å§bwzs{ÆÒpÐF,KM�c*Yñ? .74

Savour (B) Savage (A)

Saviour (D) Save  (C)

ZkeÅZ�Z�b�l�,X .75

CBA, FGE, ILI, LQM

NVQ (B) OVP (A)

OVQ (D) OUP (C)
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Reasoning Z+Ñw

In certain cord PARTICLE is written as USBQFMDJ and GENERATE is written as FOFHFUBS. .76

How is DOCUMENT written in that code?

VDPENFUQ (B) VDEPUONF (A)

VDPENFOU (D) VDPEUOFN (C)

zZVìX�ó]42.ç EGGZÐ0*õ�gZnìXnÐ�»giHì? 8 �VÅ¯k~]42.ç EGGZ»�gzZz6,Ð 40 .77

28 (B) 27 (A)

26 (D) 29 (C)

ÐHmì? D  R »¸ðìX M K ÅâVìX   K   D »¸ðìX H  M ÅÇìX M R .78

âV (B) e (A)

Zò (D) MBÆîg6,�b�Z(gZ]Æ´z{ (C)

Zq-úg]Å§sZ�ág{�D�ñu÷�r#ä¹óz{÷}�Z�ZÅZ³CeÅeìXu÷»úg]ÐHmì? .79

¸ð (B) �/y (A)

Zò (D) MBÆîg6,�b�Z(gZ]Æ´z{ (C)

Ò**]:Ãð³**¥/c*7ìXÓxÈz�[ä�XÓxy¥/c*�XÓx¥/c*I�c*V�: .80

³:
ÃðÈztZq-yì (B) ÓxI�c*V[ä� (A)

ÓxyI�c*V� (D) ÓxÈz�I�~�ä»Zkyì (C)

Òy:Óx�Z],}�Z],}�XÓx�Z],}l�XÃðlZq-ZCÙZx7ìXÃðZCÙZx[7ìX .81

³:
Óx[�Z],{�ä»Zkyì (B) ÁZiÁ¼�Z],}ZCÙZx� (A)

ÁZiÁbl�Z],}� (D) Óxl[�ä»Zkyì (C)
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³¢a�zgìXÇ�VZ`ægÆ 18 ³¢aÆÃA6,ìXÇ�VgZ:Ç�Vg-ZÆæt~ 20 Ç�VægÇ�Vg-ZÆÑw~ .82

³¢aÆÃA6,ìXZ¤/?Ñzq��Ç�VZ`J-VY@*ìÂz{ZLM̀¸iÐ¾�~ì? 12 f[~
Ñwf[ (B) Ñw (A)

�[æt (D) �[ (C)

�g`fs¥â]»Ng_·�,Zzgfs~�b�ÎZÑ]Æ�Z!*]�,X (83-87) ÎZÑ]
&ZÇh-V�&+Z;óÎ$©ï JEHem,Z],ZzḡgeMry~&2ßV��óhZzg©gM!*�»^ Z Zzg W, V , T, S R, Q, P

ÆZ Æ�B̂7�g;ìZq-%�Üs T W Zzg Q R �gì�XCÙ»g~ÁZiÁ&pZ&�XCÙ»g~ÁZiÁ�z%��X
R Zzg V ÅÇZzḡgeMVy~�̂CìX P   S �&+Z;Ð©gM!*�»�̂g;ì P �B̂�g;ìZzgh»7̂�g;ìX

h»7̂�@*ìX W Zq-�B̂�D�X

»�̂gì�? (Chennai) Zg»y¾»g~h .83

Î$©ï JEHem,Z], (B) �&+Z; (A)

c*ÂÎ$©ï JEHem,Z],c*¯geMVy (D) ¯geMVy (C)

Zg»ŷ�gì�? 4 ¾»g~ .84

Î$©ï JEHem,Z], (B) �&+Z; (A)

Zy~ÐÃð7 (D) ¯geMVy (C)

ÐVpZ&Zg»yÆZâZ`Æ�'~ÐÃy�ù·?       .85

Z S W (B) Z S Q (A)

»ç7HYY (D) Z X P (C)

Æ�BÃŷ�g;ì? W .86

P Üs (B) Q Üs (A)

Zy~ÐÃð7 (D) Q Zzg P (C)

qgzfs~Ð¾ZâZ`~Zg»y�&+Z;6,�̂gì�? .87

W Q P (B) S R P (A)

eð**»°   (D) S W P (C)
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¢a½Æ�óz{ætÅ§s&×@*ì 20 ¢a½Æ�z{ÑwÅ§s&×Y@*ìX 15 Zâ\�[Å§s»Ñzq�@*ìX .88

¢a¸ìXz{ZLZÝ£xÐH�zgìZzg¾�~ì? 5 ¢a¸ìóz{Q�[Å§s&×@*ìZzg 10 Zzg

10 m, South (B) 10m, North (A)

10 m, East (D) 10 m, West (C)

Each vowel in the word JOURNEY is replaced by the previous letter in Engilsh Alphabet, and .89

each consonent is replaced by the next letter in the English alphabet, then the substituted

letters are arranged in alphabetical order. Which of the following will be the fifth the left end?

K (B) D (A)

Zy~ÐÃð7 (D) O (C)

How many such digits are there in the numbers 5 8 4 6 9 3 7 each of which is as far away from .90

the beginning of the number as when the digits are arranged in descending order with the number

One (B) None (A)

Three (D) None (C)

In a certain code langauge 'food is good' is written as 'ha na ta' eat food regularly is written .91

as ' da na ja'. How is eat written in that code langauge?

la (B) sa (A)

Data inadequate (D) sa or la (C)

Look at this series: 12, 11, 13, 12, 14, 13, ..... What number should come next? .92

16 (B) 10 (A)

15 (D) 13 (C)

Which word does NOT belong with the others? .93

Glossary (B) Index (A)

Book (D) Chapter (C)

MBA/E.T/ 2022
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Melt : Liquid : Freeze : .94

Solid (B) Ice (A)

Push (D) Condense (C)

Look at this series : 36, 34, 30, 28, 24, .... What number should come next? .95

26 (B) 22 (A)

20 (D) 23 (C)

Which word is the odd man out? .96

Fondness (B) Hate (A)

Attachment (D) Liking (C)

-i£òúÒzVÅZq-wÆ;B~�b 66% IÆaZq-µ/»gHì�V 'B' gc*4Ó#Öä)F,¹c*C 'A' .97

YNÐXÑÇ¿:
gc*4Ó#ÖÃwÆ»x�äÆagÉèoZzgZßßV»ê�**ecX 'A' .1

Z¤/%�/~Ó#ÖÅ@Ze$ÅYñÂ�vgc*4Ó#ÖÌZÏ§bÆµ"6,¿�$Ëì .2

If only II follows (B) If only I follow (A)

If neither I nor II follows (D) If either I or II follows (C)

ZCF, YBE, XAD, WZC, ................ .98

VYB (B) VUY (A)

YUV (D) VYU (C)

SCD, TEF, UGH, ............... WKL .99

VIJ (B) IJT (A)

UJI (D) CMN (C)

Zq-ZÏ�zZì�?�~ØzV»:L0g�ìX 'P' Òy:�zZ .100

Zq-x�zZì 'P' Gz2:~ÃðZzg�zZ?�~ØzV»:L70g�ìX�zZ
Z¤/ÜsGz£�zx�ì (B) Z¤/ÜsGz£~��V (A)

Z¤/~c*�zx~ÐÃðÌ�7XZ¤/~Zzg�zx�� (D) Z¤/~c*�zx~ÐÃðZq-�ì (C)
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